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Question 1

Question Type: MultipleChoice

Refer to the exhibit

age Nnot d or type unknown

The decision table above shows a company's fuel expenses structure.

Which of the following Test Cases based on the decision table are Valid?

Test Case 1:

An employee who is not a car or motorcycle driver attempts to claim fuel expenses. Expected result: Expense claim not allowed.
Test Case 2:

An employee who drives a 1700cc diesel car attempts to claim fuel expenses. Expected result: Expense claim accepted at band C.
Test Case 3:

An employee who rides a motorcycle attempts to claim fuel expenses. Expected result: Expense claim accepted at band A.



Options:

A) Test Cases 1 and 3 are Valid, Test Case 2 is Invalid.
B) Test Cases 2 and 3 are Valid, Test Case 1 is Invalid
C) Test Cases 1, 2 and 3 are all Valid.

D) Test Cases 2 is Valid, Test Cases 1 and 3 are Invalid

Answer:

Question 2

Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

The decision table above reflects a golf club’s pricing structure for green fees and buggy/cart hire.

What is the expected result (actions) for each of the following two test cases (TC1 and TC2)?



*TC 1 - Paul is not a full member, is a Loyalty Card holder and requests to play 18 holes with a buggy/cart

*TC 2 - Cheryl is not at full member, doesn't have a Loyalty Card and requests to play 9 holes with a buggy/cart

Options:

A) TC1 - 23 total charges including buggy hire; TC2 - 21 total charge including buggy hire
B) TC1 - 18 total charges including buggy hire; TC2 - 16 total charge but no buggy allowed
C) TC1 - 23 total charges including buggy hire; TC2 - 16 total charge but no buggy allowed

D) TC1 - 17 total charges but no buggy allowed; TC2 - 21 total charge including buggy hire

Answer:

D

Question 3

Question Type: MultipleChoice

Refer to the exhibit



age not d or type unknown

In the above State Table, which of the following represents an invalid transition?

Options:

A) Event C from S3
B) Event E from S4
C) Event B from S2
D) Event D from S4

Answer:

C

Question 4

Question Type: MultipleChoice

To which of the following test levels regression testing be applied?



| . Component Testing
II. Integration Testing
[l . System Testing

IV. Acceptance Testing

Options:

ISYINIINIY
B) I, Il

C) 1L 1, il

D) 1, 11, 11, IV

Answer:

C

Question 5

Question Type: MultipleChoice




Which of the following are part of ISTQB code of ethics?

| . Certified software testers shall advance the integrity and reputation of the profession consistent with the public interest
Il . Certified software tester shall always sign a NDA (Non Disclosure Agreement) in presence of customer data

[l . Certified software testers shall maintain integrity and independence in their professional judgment

IV Certified software testers shall act in a manner that is in the best interests of their client and employer, consistent with the public
interest

Options:
A) L LI
B) I, I, IV
)1,V
D) I, I, 1V
Answer:

C



Question 6

Question Type: MultipleChoice

A software system checks age in order to determine which welcome screen to display Age groups are
Group I: 0-12

Group 1l: 13-18

Group Ill: over 18

Which of the below represent boundary values?

Options:

A) (0, 12, 13,18,19)

B) (-1,0,11,12,13,14,18,19)
C) (4,5,15,20)

D) (-1.0,12,13,18,19)

Answer:




Question 7

Question Type: MultipleChoice

Which of the following statements about static analysis are FALSE?

| . Static analysis can be used instead of dynamic testing.

[l Static analysis can uncover defects like security vulnerabilities.

[l . Static analysis can be used to check conformance to specifications and standards.

IV. Static analysis typically detects failures prior to component testing.

Options:
A) LI
B)YI.IV
C) .

D) Il . IV
Answer:

C



Question 8

Question Type: MultipleChoice

Which of the following statements about test reports are TRUE?

| . Test reports shall be approved by the test team.

Il . Test reports shall give stakeholders information as basis for decisions

[l . Test reports shall summarize what happened through a period of testing,

IV. Test reports shall be approved by the development team, the test team and the customer

V . Test reports shall include information about remaining risks.

Options:
A) 11,1V
B)YI.I.IV
C)L .V

D)L, 1.V



Answer:

Question 9

Question Type: MultipleChoice

Which of the following statements describes regression testing?
| . Retesting of a fixed defect

Il Testing of an already tested program

[l . Testing of new functionality in a program

IV. Regression testing applies only to functional testing

V Tests that do not have to be repeatable. because they are only used once

Options:

A) I



BYII.IV,V
C) LIV
D) I, I, IV

Answer:

A
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